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SECTION A — {10 x 2 = 20 marks)
Answer any TEN questions each in 30 words.

The kinetic energy of an electron has been found
to be 5.76x107*J. Calculate erm imﬁwrwbméw

associated with the &moﬁobm

g cosigrallar  @Qués opHpd  wHluners

5.76x107° J . wieva Bargeman samsd(Hs.

Define photoelectric effect.
eaflfler alleneray QQqEE.

Calculate the amount of energy H.mpﬁumm to
convert 1.5 g of potassium atoms in the gaseous
state to form a potassium ions. Ionization energy
of potassium is 419 kJ mole-! and atomic mass of
potassium is 39 a. m.u.

Uy %89@% 15 g Gumirflub Signemel,
Qum_Lrflwud  Swelunés @mws@._E:@q SpHDa®
sansH(. Swallungd  9Hde 419 kJ mole!
@C:_.IF:%EW%% Siem erenl 39 a.m.u. |

I B se Cchinier).

Give the TUPAC name of acetic acid and B&o&o
acid. )

- 28lgs  uflon  whgd  wCorals nﬁ&@.@%%

IUPAC Quuiflenens gms.

How many double bonds are in ethylene and
acetylene? ’
asdeler  wHmD
GenemriiL st o eaman?

2iflgeSear erana @qrg_l

SECTION B — (5 x 5 = 25 marks)

.Answer any FIVE questions each in 200 words.

-Describe briefly the limitations of Bohr’s theory of
atomic, structure.
2! . ne_@_bn_.ra%. Guni

- QaneTens &@m%%g

&(H&ESLTS elleums.

Discuss the factors ermn govern ewm electron
wmmb;%

.Q.mcmqu_._.mq_. me._:. mg._.assm....mw:.@.— mm_._.a.aqq_._.m._mmmSQ._.E EB%

afleurs).
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Define electronegativity.

GTRELITE &6ur ST U T,
What is an ionic bond?

Slwefl 19enemtiIL| eTeTDTed 6TeTen?

State Fajan’s rule:

Quggnen el Hanwis .

What are liquid crystals?

Slyeu L&D eTemDITEd Grevan?

Write any two -applications of  the solubility
product. -

sordpar QumsssHear gCsayd @Qam® LweTEmeT
TIPS ]

Define imole fraction.

auanim : Gomed 1lemeid.

What is meant by hybridization?
E@ESUIL| GTENMTE) GTETEN?

Chonlate
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HvamE the factors Emc.mboubm the formation of an
ionic bond.

el departiiL o QT TSQISETET SrFeRTEIGET LDl
elloTé.

Describe the different kinds of :pca crystals.

%q@._ Eﬁaﬁaamaa Q@@Q@B_ %m@a@%c EB%
edeurd).

Derive Bragg’s equation.
QpTé SemLIT ty anar S(edl.

Explain the common ion effect and ihdicate how it
is helpful in qualitative analysis.

.Qr:@_ Swedl cenerelienar . elleré@ LHMID i

19.

. GTEUGUTM) E@Smﬁ% U@uumiele QmE@E@&B@o

Explain steric effect with an example.

Qamerefl_ elenarelienar o gryamsgIL 6 .de%%,@.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

20.

(a) Applying Bohr’s model calculate the energy
emitted when an electron in a hydrogen
.atom makes a transition from ﬁE.m energy
level to first energy level. J

(b) Uumozm.m the
v and y?.

vgamuomw mwmbwmo.wbow of
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A ) Gumi oigm wrdfuienens Qsmer( @@Fq%g
| wpampresg @bpé Ll SBNGHE (pswrag
. DS WL SHHE Qm@@_b @E@_ QE%@@B

DO maqaa%@ \

(<) v oppib v* @uiepsduggiaugsSoan afeul.

How. do .%,o,z define atomic. radius of an element?
Discuss the variations in atomic radius along a
vaem and down the group. ,

m%.&%g SN@D Y TSSenan ﬂ@@:@ m:mquB_r_E:Eo

aufflana 1 BBEE QW:@%E@ Qdre nv@g: WmTHpEIseaT
feufl,

'Draw and explain the molecular orbital &wmumuu :
- for H,0 mu& CH,.

B whpmd BECHe epasemmisEnEsTaT nwv:rg_l_l_.ac
SienLolienu cuenhg) elleTé @ s.

-

Explain the theory of acid base indicators.

e _.28 &:qm ._ .@aas_b C Bl BE&:_IE.&@.W&:Q

Qaqggmigg eflemds.
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Discuss the hybridization and geometry of éthane
molecule.

aiBeSen apaviemdler @andsarli HHib SiewiGenan
afeurfl.
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